# STRONG SKEW COMMUTATIVITY PRESERVING MAPS ON RINGS 

LEI LIU

(Received 27 January 2015; accepted 4 August 2015; first published online 25 November 2015)

Communicated by A. Sims


#### Abstract

Let $\mathcal{A}$ be a unital ring with involution. Assume that $\mathcal{A}$ contains a nontrivial symmetric idempotent and $\phi: \mathcal{A} \rightarrow \mathcal{A}$ is a nonlinear surjective map. We prove that if $\phi$ preserves strong skew commutativity, then $\phi(A)=Z A+f(A)$ for all $A \in \mathcal{A}$, where $Z \in \mathcal{Z}_{s}(\mathcal{A})$ satisfies $Z^{2}=I$ and $f$ is a map from $\mathcal{A}$ into $\mathcal{Z}_{s}(\mathcal{A})$. Related results concerning nonlinear strong skew commutativity preserving maps on von Neumann algebras are given.


2010 Mathematics subject classification: primary 16N60; secondary 16 U 80.
Keywords and phrases: strong skew commutativity, rings, von Neumann algebras.

## 1. Introduction

Let $\mathcal{A}$ be a ring with involution. For $A, B \in \mathcal{A}$, we denote by $[A, B]_{*}=A B-B A^{*}$ the skew Lie product of $A$ and $B$. The skew Lie product was extensively studied because it naturally arises in the problem of representing quadratic functionals with sesquilinear functionals (see, for example, [12-15]) and in the problem of characterizing ideals (see, for example, $[3,10]$ ). Recall that a map $\phi$ from $\mathcal{A}$ into itself is called a skew commutativity preserving map if $[\phi(A), \phi(B)]_{*}=0$ whenever $[A, B]_{*}=0$ for all $A, B \in \mathcal{A}$. There have been a number of papers on the study of skew commutativity preserving maps (see [4, 5] and references therein).

More especially, a map $\phi$ is called a strong skew commutativity preserving map on $\mathcal{A}$ if $[\phi(A), \phi(B)]_{*}=[A, B]_{*}$ for all $A, B \in \mathcal{A}$. Clearly, strong skew commutativity preserving maps must be skew commutativity preserving maps, but the inverse is not true generally. In [6], Cui and Park characterized nonlinear surjective strong skew commutativity preserving maps $\phi$ on factor von Neumann algebras $\mathcal{A}$, that is, $\phi$ has the form $\phi(A)=\psi(A)+h(A) I$ for all $A \in \mathcal{A}$, where $\psi: \mathcal{A} \rightarrow \mathcal{A}$ is a linear bijective

[^0]map satisfying $\psi(A) \psi(B)-\psi(B) \varphi(A)^{*}=A B-B A^{*}$ for all $A, B \in \mathcal{A}$ and $h$ is a real functional on $\mathcal{A}$ with $h(0)=0$. In [11], Qi and Hou generalized Cui and Park's results to prime rings with involution and proved that every nonlinear surjective strong skew commutativity preserving map $\phi$ on a unital prime ring $\mathcal{A}$ with involution has the form $\phi(A)=\lambda A+f(A)$ for all $A \in \mathcal{A}$, where $\lambda \in\{-1,1\}$ and $f$ is a map from $\mathcal{A}$ into $\mathcal{Z}_{s}(\mathcal{A})$ (the symmetric center of $\left.\mathcal{A}\right)$. Qi and Hou in [11] also characterized the nonlinear surjective strong skew commutativity preserving maps of von Neumann algebras without central summands of type $I_{1}$. In this article, we continue this line of investigation and characterize nonlinear strong skew commutativity preserving maps on general rings with involution.

This article is organized as follows. In Section 2, we deal with the case that $\mathcal{A}$ is a ring with the unit $I$ and involution having a nontrivial symmetric idempotent $P$, that is, $P^{*}=P$ and $P^{2}=P$. We set $\mathcal{Z}_{s}(\mathcal{A})$, the symmetric central element of $\mathcal{A}$, that is, $\mathcal{Z}_{s}(\mathcal{A})=\left\{Z \in \mathcal{A}: Z^{*}=Z\right.$ and $Z A=A Z$ for all $\left.A \in \mathcal{A}\right\}$. Assume that $\phi: \mathcal{A} \rightarrow \mathcal{A}$ is a nonlinear surjective strong skew commutativity preserving map. We show that $\phi(A)=Z A+f(A)$ for all $A \in \mathcal{A}$, where $Z \in \mathcal{Z}_{s}(\mathcal{A})$ satisfies $Z^{2}=I$ and $f$ is a map from $\mathcal{A}$ into $\mathcal{Z}_{s}(\mathcal{M})$. In Section 3, we give several applications of the results in the above section for some operator algebras. Particularly, we characterize nonlinear surjective strong skew commutativity preserving maps on factor von Neumann algebras and von Neumann algebras without central summands of type $I_{1}$.

## 2. Characterization of strong skew commutativity preserving maps

In this section, we discuss the nonlinear surjective strong skew commutativity preserving maps on unital rings with involution.

Theorem 2.1. Let $\mathcal{A}$ be a ring with the unit $I$ and involution. Assume that $\mathcal{A}$ contains a nontrivial symmetric idempotent $P$ such that $X \mathcal{A} P=0$ implies $X=0$ and $X \mathcal{A}(I-P)=0$ implies $X=0$ and $\phi: \mathcal{A} \rightarrow \mathcal{A}$ is a nonlinear surjective strong skew commutativity preserving map, that is, $\phi$ satisfies

$$
[\phi(A), \phi(B)]_{*}=[A, B]_{*}
$$

for all $A, B \in \mathcal{A}$. Then there exist an element $Z \in \mathcal{Z}_{s}(\mathcal{A})$ with $Z^{2}=I$ and a map $f: \mathcal{A} \rightarrow \mathcal{Z}_{s}(\mathcal{A})$ such that $\phi(A)=Z A+f(A)$ for all $A \in \mathcal{A}$.

Proof. We shall organize the proof of Theorem 2.1 in a series of claims.
Claim 1. Let $X \in \mathcal{A}$. Then $P \mathcal{A} X=0$ implies $X=0$ and $(I-P) \mathcal{A} X=0$ implies $X=0$.
If $P \mathcal{A} X=0$, then we have $X^{*} \mathcal{A}^{*} P=0$, that is, $X^{*} \mathcal{A} P=0$. It follows from the property of $P$ that $X^{*}=0$. So, $X=0$.

Similarly, one can prove that $(I-P) \mathcal{A} X=0$ implies $X=0$.
Claim 2. Let $A \in \mathcal{A}$. Then $P A P X P=P X P A^{*} P$ for all $X \in \mathcal{A}$ implies $P A P=P Z$, where $Z \in \mathcal{Z}_{s}(\mathcal{A})$.

Taking $X=P$, we get $P A P=P A^{*} P$. It follows that $P A P X P=P X P A P$. Then we let

$$
\mathcal{A P A P \mathcal { A }}=\left\{\sum_{j=1}^{n} X_{j} P A P Y_{j}: X_{j}, Y_{j} \in \mathcal{A}, n \in \mathrm{~N}\right\}
$$

and

$$
\mathcal{A P A}=\left\{\sum_{j=1}^{n} X_{j} P Y_{j}: X_{j}, Y_{j} \in \mathcal{A}, n \in \mathrm{~N}\right\} .
$$

It is easy to see that $\mathcal{A P A P \mathcal { A }}$ is an ideal of $\mathcal{A} P \mathcal{A}$. We can define an additive map $\psi: \mathcal{A P A} \rightarrow \mathcal{A} P A P \mathcal{A}$ by $\psi\left(\sum_{j=1}^{n} X_{j} P Y_{j}\right)=\sum_{j=1}^{n} X_{j} P A P Y_{j}$. The map is well defined. Indeed, if $\sum_{j=1}^{n} X_{j} P Y_{j}=0$, we have $\sum_{j=1}^{n} X_{j} P Y_{j} Y P A P=0$ for all $Y \in \mathcal{A}$. It follows from the fact that $P A P X P=P X P A P$ that $\sum_{j=1}^{n} X_{j} P A P Y_{j} Y P=0$. From the property of $P$, we obtain $\sum_{j=1}^{n} X_{j} P A P Y_{j}=0$, which means that $\psi$ is well defined. Moreover, the following equations hold

$$
\begin{aligned}
\psi\left(\sum_{i=1}^{n} X_{i} P Y_{i} \sum_{j=1}^{m} X_{j}^{\prime} P Y_{j}^{\prime}\right) & =\psi\left(\sum_{j=1}^{m}\left(\sum_{i=1}^{n} X_{i} P Y_{i}\right) X_{j}^{\prime} P Y_{j}^{\prime}\right) \\
& =\sum_{j=1}^{m}\left(\sum_{i=1}^{n} X_{i} P Y_{i}\right) X_{j}^{\prime} P A P Y_{j}^{\prime} \\
& =\sum_{i=1}^{n} X_{i} P Y_{i} \sum_{j=1}^{m} X_{j}^{\prime} P A P Y_{j}^{\prime} \\
& =\sum_{i=1}^{n} X_{i} P Y_{i} \psi\left(\sum_{j=1}^{m} X_{j}^{\prime} P Y_{j}^{\prime}\right) .
\end{aligned}
$$

This implies that $\psi$ is a left $\mathcal{A P A}$-module homomorphism, that is, $\psi \in$ $\operatorname{Hom}_{\mathcal{A} P \mathcal{A}}(\mathcal{A P A}, \mathcal{A} P A P \mathcal{A})$. By [7, Ch. 4, Theorem 4.9], there exists an element $Z \in \mathcal{A P} P A P \mathcal{A}$ such that $\psi(X)=X Z$ for all $X \in \mathcal{A} P \mathcal{A}$. In particular,

$$
P A P=\psi(P)=P Z .
$$

Next we shall show that $Z \in \mathcal{Z}_{s}(\mathcal{A})$. In fact, for any $Y \in \mathcal{A}, X=\sum_{i=1}^{n} X_{i} P Y_{i} \in \mathcal{A} P \mathcal{A}$,

$$
\psi(X Y)=\psi\left(\sum_{i=1}^{n} X_{i} P Y_{i} Y\right)=\sum_{j=1}^{n} X_{i} P A P Y_{i} Y=\psi(X) Y .
$$

It follows that $X Y Z=X Z Y$, that is, $\mathcal{A} P \mathcal{A}(Y Z-Z Y)=0$. Thus, by Claim 1, we get $Y Z=Z Y$ for all $Y \in \mathcal{A}$. Furthermore, since $P A P=P A^{*} P$, we get $P Z=P Z^{*}$ and so $P \mathcal{A}\left(Z-Z^{*}\right)=0$. It follows from Claim 1 that $Z=Z^{*}$. Hence, $Z \in \mathcal{Z}_{s}(\mathcal{A})$, as desired.

In what follows, let $P_{1}=P$ and $P_{2}=I-P_{1}$. We denote $\mathcal{A}_{i j}=P_{i} \mathcal{A} P_{j}$ for $i, j=1,2$. Then $\mathcal{A}=\mathcal{A}_{11}+\mathcal{A}_{12}+\mathcal{A}_{21}+\mathcal{M}_{22}$ and each element $A \in \mathcal{A}$ can be written as $A=$ $A_{11}+A_{12}+A_{21}+A_{22}$, where $A_{i j} \in \mathcal{A}_{i j}, i, j=1,2$.

Claim 3. $\phi\left(P_{1}\right)=Z P_{1}+Z_{P_{1}}$, where $Z, Z_{P_{1}} \in \mathcal{Z}_{s}(\mathcal{A})$.
For any $X \in \mathcal{A}$, since $\left[P_{1},\left[P_{1},\left[P_{1}, X\right]_{*}\right]_{*}\right]_{*}=\left[P_{1}, X\right]_{*}$,

$$
\left[P_{1},\left[P_{1},\left[\phi\left(P_{1}\right), \phi(X)\right]_{*}\right]_{*}\right]_{*}=\left[\phi\left(P_{1}\right), \phi(X)\right]_{*}
$$

It follows from the surjectivity of $\phi$ that

$$
\begin{equation*}
\left[P_{1},\left[P_{1},\left[\phi\left(P_{1}\right), X\right]_{*}\right]_{*}\right]_{*}=\left[\phi\left(P_{1}\right), X\right]_{*} \tag{2.1}
\end{equation*}
$$

Taking $X=A_{12} \in \mathcal{A}_{12}$ in (2.1), we get $A_{12} \phi\left(P_{1}\right)^{*} P_{1}=P_{2} \phi\left(P_{1}\right) A_{12}$, which implies that $P_{2} \phi\left(P_{1}\right) A_{12}=0$ and $A_{12} \phi\left(P_{1}\right)^{*} P_{1}=0$. By Claim 1 and the property of $P, P_{2} \phi\left(P_{1}\right) P_{1}=$ $P_{2} \phi\left(P_{1}\right)^{*} P_{1}=0$, that is, $P_{2} \phi\left(P_{1}\right) P_{1}=P_{1} \phi\left(P_{1}\right) P_{2}=0$.

Moreover, taking $X=A_{11} \in \mathcal{A}_{11}$ in (2.1), we obtain $P_{1} \phi\left(P_{1}\right) A_{11}=A_{11} \phi\left(P_{1}\right)^{*} P_{1}$. By Claim 2, there exists an element $Z_{1} \in \mathcal{Z}_{s}(\mathcal{A})$ such that $P_{1} \phi\left(A_{11}\right) P_{1}=Z_{1} P_{1}$. With a similar argument, we have $P_{2} \phi\left(P_{1}\right) P_{2}=Z_{2} P_{2}$, where $Z_{2} \in \mathcal{Z}_{s}(\mathcal{A})$. Hence,

$$
\phi\left(P_{1}\right)=Z_{1} P_{1}+Z_{2} P_{2}=\left(Z_{1}-Z_{2}\right) P_{1}+Z_{2}
$$

We denote $Z=Z_{1}-Z_{2}$ and $Z_{P_{1}}=Z_{2}$. Then $\phi\left(P_{1}\right)=Z P_{1}+Z_{P_{1}}$.
Finally, we need to prove that $Z \neq 0$. On the contrary, if $Z=0$, then $\phi\left(P_{1}\right)=Z_{2} \in$ $\mathcal{Z}_{s}(\mathcal{A})$. It follows that $\left[P_{1}, X\right]_{*}=\left[\phi\left(P_{1}\right), \phi(X)\right]_{*}=0$ for all $X \in \mathcal{A}$. This leads to $P_{1} \in \mathcal{Z}_{s}(\mathcal{A})$. So, $\left(I-P_{1}\right) \mathcal{A} P_{1}=0$. From the property of $P_{1}$, we get $I-P_{1}=0$, which is impossible as $P_{1}$ is nontrivial.

In the sequel, $Z$ is the symmetric central element in Claim 3.
Claim 4. Let $A_{i j} \in \mathcal{A}_{i j}, 1 \leq i \neq j \leq 2$. Then:
(a) $\quad \phi(X)=P_{1}$ implies $X_{i j}=0$;
(b) $\quad \phi(X)=A_{i j}$ implies $X_{i j}=Z A_{i j}$ and $X_{j i}=0$.

It follows from Claim 3 that

$$
\left[P_{1}, X\right]_{*}=\left[\phi\left(P_{1}\right), \phi(X)\right]_{*}=\left[Z P_{1}, P_{1}\right]_{*}=0 .
$$

Then $X_{12}=X_{21}=0$. So, (a) is true.
Similarly, by Claim 3,

$$
\left[P_{1}, X\right]_{*}=\left[\phi\left(P_{1}\right), \phi(X)\right]_{*}=\left[Z P_{1}, A_{12}\right]_{*}=Z A_{12}
$$

which implies that $X_{12}=Z A_{12}$ and $X_{21}=0$. If $\phi(X)=A_{21}$, we can obtain $X_{21}=Z A_{21}$ and $X_{12}=0$ in the same way. So, (b) is true.

Claim 5. $\phi\left(A_{i i}\right)=Z A_{i i}$ for all $A_{i i} \in \mathcal{A}_{i i}, i=1,2$.
For any $A_{11} \in \mathcal{A}_{11}$ and $A_{12} \in \mathcal{A}_{12}$, by the surjectivity of $\phi$, there exists an element $X \in \mathcal{A}$ such that $\phi(X)=A_{12}$. Then $\left[X, A_{11}\right]_{*}=\left[\phi(X), \phi\left(A_{11}\right)\right]_{*}=\left[A_{12}, \phi\left(A_{11}\right)\right]_{*}$, that is,

$$
\begin{equation*}
X A_{11}-A_{11} X^{*}=A_{12} \phi\left(A_{11}\right)-\phi\left(A_{11}\right) A_{12}^{*} . \tag{2.2}
\end{equation*}
$$

Multiplying (2.2) by $P_{1}$ from the left-hand side and $P_{2}$ from the right-hand side, we arrive at $-A_{11} X^{*} P_{2}=A_{12} \phi\left(A_{11}\right) P_{2}$. By Claim 4(b), this is equivalent to

$$
A_{12} \phi\left(A_{11}\right) P_{2}=0 .
$$

It follows from Claim 1 that $P_{2} \phi\left(A_{11}\right) P_{2}=0$. Similarly, we have $\left[A_{11}, X\right]_{*}=$ $\left[\phi\left(A_{11}\right), \phi(X)\right]_{*}=\left[\phi\left(A_{11}\right), A_{12}\right]_{*}$, that is,

$$
\begin{equation*}
A_{11} X-X A_{11}^{*}=\phi\left(A_{11}\right) A_{12}-A_{12} \phi\left(A_{11}\right)^{*} . \tag{2.3}
\end{equation*}
$$

Multiplying (2.3) by $P_{2}$ from both sides, we obtain $P_{2} \phi\left(A_{11}\right) A_{12}=0$, which implies $P_{2} \phi\left(A_{11}\right) P_{1}=0$. At the same time, multiplying (2.3) by $P_{1}$ from the left-hand side and $P_{2}$ from the right-hand side, and combining the fact that $P_{2} \phi\left(A_{11}\right) P_{2}=0$, we arrive at $A_{11} X P_{2}=P_{1} \phi\left(A_{11}\right) A_{12}$. Using Claim 4(b) again, we have $Z A_{11} A_{12}=P_{1} \phi\left(A_{11}\right) A_{12}$. Therefore, $P_{1} \phi\left(A_{11}\right) P_{1}=Z A_{11}$ holds for all $A_{11} \in \mathcal{A}_{11}$.

For any $A_{21} \in \mathcal{A}_{21}$, by the surjectivity of $\phi$, there exists an element $X \in \mathcal{A}$ such that $\phi(X)=A_{21}$. Then $\left[X, A_{11}\right]_{*}=\left[\phi(X), \phi\left(A_{11}\right)\right]_{*}=\left[A_{21}, \phi\left(A_{11}\right)\right]_{*}$, that is,

$$
\begin{equation*}
X A_{11}-A_{11} X^{*}=A_{21} \phi\left(A_{11}\right)-\phi\left(A_{11}\right) A_{21}^{*} . \tag{2.4}
\end{equation*}
$$

Multiplying (2.4) by $P_{2}$ from both sides, we get $A_{21} \phi\left(A_{11}\right) P_{2}=0$. It follows from Claim 1 that $P_{1} \phi\left(A_{11}\right) P_{2}=0$. Hence, $\phi\left(A_{11}\right)=Z A_{11}$.

Similarly, $\phi\left(A_{22}\right)=Z A_{22}$ can be obtained.
Claim 6. $Z^{2}=I$ and $\phi\left(A_{i j}\right)=Z A_{i j}$ for all $A_{i j} \in \mathcal{A}_{i j}, 1 \leq i \neq j \leq 2$.
For any $B_{12} \in \mathcal{A l}_{12}$ and $B_{21} \in \mathcal{A}_{21}$, by the surjectivity of $\phi$, there exist $U, V, W \in \mathcal{A}$ such that $\phi(U)=P_{1}, \phi(V)=B_{12}$ and $\phi(W)=B_{21}$. Then we have the following three equations.

$$
\begin{aligned}
{\left[U, A_{12}\right]_{*} } & =\left[\phi(U), \phi\left(A_{12}\right)\right]_{*}=\left[P_{1}, \phi\left(A_{12}\right)\right]_{*}, \\
{\left[V, A_{12}\right]_{*} } & =\left[\phi(V), \phi\left(A_{12}\right)\right]_{*}=\left[B_{12}, \phi\left(A_{12}\right)\right]_{*}
\end{aligned}
$$

and

$$
\left[W, A_{12}\right]_{*}=\left[\phi(W), \phi\left(A_{12}\right)\right]_{*}=\left[B_{21}, \phi\left(A_{12}\right)\right]_{*},
$$

which are equivalent to

$$
\begin{align*}
U A_{12}-A_{12} U^{*} & =P_{1} \phi\left(A_{12}\right)-\phi\left(A_{12}\right) P_{1}  \tag{2.5}\\
V A_{12}-A_{12} V^{*} & =B_{12} \phi\left(A_{12}\right)-\phi\left(A_{12}\right) B_{12}^{*} \tag{2.6}
\end{align*}
$$

and

$$
\begin{equation*}
W A_{12}-A_{12} W^{*}=B_{21} \phi\left(A_{12}\right)-\phi\left(A_{12}\right) B_{21}^{*} \tag{2.7}
\end{equation*}
$$

for all $A_{12} \in \mathcal{A}_{12}$. Multiplying (2.5)-(2.7) by $P_{2}$ from the left-hand side and $P_{1}$ from the right-hand side, respectively, we obtain $P_{2} \phi\left(A_{12}\right) P_{1}=0, P_{2} \phi\left(A_{12}\right) B_{12}^{*}=0$ and $B_{21} \phi\left(A_{12}\right) P_{1}=0$. It follows from Claim 1 and the property of $P$ that $P_{1} \phi\left(A_{12}\right) P_{1}=0$ and $P_{2} \phi\left(A_{12}\right) P_{2}=0$. So, $\phi\left(A_{12}\right)=P_{1} \phi\left(A_{12}\right) P_{2}$. Moreover, by Claim 3,

$$
\left[P_{1}, A_{12}\right]_{*}=\left[\phi\left(P_{1}\right), \phi\left(A_{12}\right)\right]_{*}=\left[Z P_{1}, \phi\left(A_{12}\right)\right]_{*}
$$

This leads to $A_{12}=Z \phi\left(A_{12}\right)$. Similarly, we obtain $A_{21}=Z \phi\left(A_{21}\right)$.
Next we shall show that $Z^{2}=I$. In fact, for any $A_{12} \in \mathcal{A}_{12}$ and $A_{21} \in \mathcal{A}_{21}$, we get $\left[A_{12}, A_{21}\right]_{*}=\left[\phi\left(A_{12}\right), \phi\left(A_{21}\right)\right]_{*}$, that is, $A_{12} A_{21}=\phi\left(A_{12}\right) \phi\left(A_{21}\right)$. It follows that

$$
Z^{2} A_{12} A_{21}=Z \phi\left(A_{12}\right) Z \phi\left(A_{21}\right)=A_{12} A_{21}
$$

that is, $\left(Z^{2}-I\right) A_{12} A_{21}=0$. Fixing $A_{12}$, from the property of $P$, we get $\left(Z^{2}-I\right) A_{12}=0$. Then, using the property of $P$ again, we have $\left(Z^{2}-I\right) P=0$ and so $\left(Z^{2}-I\right) \mathcal{A} P=0$. Hence, $Z^{2}=I, \phi\left(A_{12}\right)=Z A_{12}$ and $\phi\left(A_{21}\right)=Z A_{21}$.

Claim 7. $\phi$ is almost additive, that is, for any $A, B \in \mathcal{A}, \phi(A+B)-\phi(A)-\phi(B)=$ $Z_{A, B} \in \mathcal{Z}_{s}(\mathcal{A})$.

For any $X \in \mathcal{A}$, it is easy to check that

$$
\begin{aligned}
{[\phi(A+B)-\phi(A)-\phi(B), \phi(X)]_{*} } & =[\phi(A+B), \phi(X)]_{*}-[\phi(A), \phi(X)]_{*}-[\phi(B), \phi(X)]_{*} \\
& =[A+B, X]_{*}-[A, X]_{*}-[B, X]_{*}=0 .
\end{aligned}
$$

Since $\phi$ is surjective, we obtain a symmetric central element $Z_{A, B} \in \mathcal{Z}_{s}(\mathcal{A})$ such that $\phi(A+B)-\phi(A)-\phi(B)=Z_{A, B}$.

Now, by Claims 5-7,

$$
\begin{aligned}
\phi(A) & =\phi\left(A_{11}+A_{12}+A_{21}+A_{22}\right) \\
& =\phi\left(A_{11}\right)+\phi\left(A_{12}\right)+\phi\left(A_{21}\right)+\phi\left(A_{22}\right)+Z_{A} \\
& =Z\left(A_{11}+A_{12}+A_{21}+A_{22}\right)+Z_{A} \\
& =Z A+Z_{A}
\end{aligned}
$$

for all $A \in \mathcal{A}$, where $Z_{A} \in \mathcal{Z}_{s}(\mathcal{A})$. Define a map $f: \mathcal{A} \rightarrow \mathcal{Z}_{s}(\mathcal{A})$ by $f(A)=Z_{A}$ for all $A \in \mathcal{A}$. Then we have $\phi(A)=Z A+f(A)$, completing the proof.

Because a unital prime ring with involution satisfies the hypotheses of Theorem 2.1 if it contains a nontrivial idempotent, the following result is immediate from Theorem 2.1, which was obtained in [11, Theorem 2.1].

Corollary 2.2. Let $\mathcal{A}$ be a prime ring with the unit I and involution. Assume that $\mathcal{A}$ contains a nontrivial symmetric idempotent and $\phi: \mathcal{A} \rightarrow \mathcal{A}$ is a surjective map. If $\phi$ is a nonlinear surjective strong skew commutativity preserving map, then there exists a map $f: \mathcal{A} \rightarrow \mathcal{Z}_{s}(\mathcal{A})$ such that $\phi(A)=A+f(A)$ or $\phi(A)=-A+f(A)$ for all $A \in \mathcal{A}$.

Proof. By Theorem 2.1, there exist an element $Z \in \mathcal{Z}_{s}(\mathcal{A})$ with $Z^{2}=I$ and a map $f: \mathcal{A} \rightarrow \mathcal{Z}_{s}(\mathcal{A})$ such that $\phi(A)=Z A+f(A)$ for all $A \in \mathcal{A}$. We only need to prove that $Z=I$ or $Z=-I$. Indeed, since $\mathcal{A}$ is a prime ring with involution, we see that $\mathcal{Z}_{s}(\mathcal{A}) \subseteq C$, where $C$ is the center of $Q_{m l}(\mathcal{A})$ and $Q_{m l}(\mathcal{A})$ is the maximal left ring of quotients of $\mathcal{A}$ (see [1, 2]). Noticing that $C$ is a field [2, Theorem A.6], we have $Z=I$ or $Z=-I$ by $Z^{2}=I$.

## 3. Applications

In this section, we will give several applications of the results in the above section.
Recall that a von Neumann algebra $\mathcal{M}$ is a weakly closed, self-adjoint algebra of operators on a complex Hilbert space $H$ containing the identity $I$. The center of $\mathcal{M}$ is denoted by $\mathcal{Z}(\mathcal{M})=\{Z \in \mathcal{M}: Z M=M Z$ for all $M \in \mathcal{M}\}$. The algebra $\mathcal{M}$ is called a factor if $\mathcal{Z}(\mathcal{M})=\mathrm{C} I$. We denote that $\bar{A}$ is the central carrier of $A \in \mathcal{M}$. It is well known that the central carrier of $A$ is the projection whose range is the closed linear span of $\{\mathcal{M} A(h): h \in H\}$. For each self-adjoint operator $R \in \mathcal{M}$, the core of $R$, denoted by $\underline{R}$, is $\sup \left\{A \in \mathcal{Z}(\mathcal{M}): A=A^{*}, A \leq R\right\}$. If $P \in \mathcal{M}$ is a projection and $\underline{P}=0$, we call $P$ a core-free projection. It is easy to see that $\underline{P}=0$ if and only if $\overline{I-P}=I$. We refer reader to [8] for the theory of von Neumann algebras.

Theorem 3.1. Let $\mathcal{M}$ be a factor von Neumann algebra and $\phi: \mathcal{M} \rightarrow \mathcal{M}$ a surjective strong skew commutativity preserving map. Then $\phi(A)=A$ or $\phi(A)=-A$ for all $A \in \mathcal{M}$.

Proof. It is well known that a factor von Neumann algebra is prime. Since $\mathcal{Z}(\mathcal{M})=$ $\mathrm{C} I$, we see that $\mathcal{Z}_{s}(\mathcal{M})=\mathrm{R} I$. By Corollary 2.2 , there exists a map $f: \mathcal{A} \rightarrow \mathrm{R} I$ such that $\phi(A)=A+f(A)$ or $\phi(A)=-A+f(A)$ for all $A \in \mathcal{M}$. We only need to prove that $f \equiv 0$. In fact, for any $A, B \in \mathcal{M}$, we have $[A, B]_{*}=[\phi(A), \phi(B)]_{*}=$ $[A+f(A), B+f(B)]_{*}$, which implies $[A, f(B)]_{*}=0$. Taking $A=i I$, we get $f(B)=0$ for all $B \in \mathcal{M}$. Then $f \equiv 0$, completing the proof.

Theorem 3.2. Let $\mathcal{M}$ be a von Neumann algebra without central summands of type $I_{1}$. Assume that $\phi: \mathcal{M} \rightarrow \mathcal{M}$ is a surjective strong skew commutativity preserving map. Then there exists an operator $Z \in \mathcal{Z}_{s}(\mathcal{M})$ with $Z^{2}=I$ such that $\phi(A)=Z A$ for all $A \in \mathcal{M}$.

Proof. From [9, Lemma 4], we know that each nonzero central projection of $\mathcal{M}$ is the central carrier of a core-free projection of $\mathcal{M}$. Since $I$ is a nonzero central projection of $\mathcal{M}$, we can obtain a core-free projection $P \in \mathcal{M}$ with central carrier $I$. It follows from $\bar{P}=I$ that $\operatorname{span}\{\mathcal{M} P(h): h \in H\}$ is dense in $H$. For $A \in \mathcal{M}, A \mathcal{M} P=0$ implies $A=0$. Similarly, since $\overline{I-P}=I$, we see that $A \mathcal{M}(I-P)=0$ implies $A=0$. Hence, by Theorem 2.1, there exist an operator $Z \in \mathcal{Z}_{s}(\mathcal{M})$ with $Z^{2}=I$ and a map $f: \mathcal{M} \rightarrow \mathcal{Z}_{s}(\mathcal{M})$ such that $\phi(A)=Z A+f(A)$ for all $A \in \mathcal{M}$.

Furthermore, since $\phi$ is a strong skew commutativity preserving map, for any $A, B \in \mathcal{M}$, we have $[A, B]_{*}=[\phi(A), \phi(B)]_{*}=[Z A+f(A), Z B+f(B)]_{*}$, which implies $[Z A, f(B)]_{*}=0$. Taking $A=i I$, we get $Z f(B)=0$ for all $B \in \mathcal{M}$. Multiplying the above equation by $Z$ from the left-hand side, we get $f(B)=0$ for all $B \in \mathcal{M}$. Hence, $\phi(A)=Z A$ for all $A \in \mathcal{M}$, completing the proof.

## References

[1] K. I. Beidar, W. S. Martindale III and A. V. Mikhalev, Rings with Generalized Identities (Marcel Dekker, New York, Basel, Hong Kong, 1996).
[2] M. Brešar, M. A. Chebotar and W. S. Martindale III, Functional Identities (Birkhäuser, Basel, 2007).
[3] M. Brešar and M. Fosňer, 'On ring with involution equipped with some new product', Publ. Math. Debrecen 57 (2000), 121-134.
[4] M. A. Chebotar, Y. Fong and P.-H. Lee, 'On maps preserving zeros of the polynomial $x y-y x^{*}$ ', Linear Algebra Appl. 408 (2005), 230-243.
[5] J. Cui and J. Hou, 'Linear maps preserving elements annihilated by a polynomial $X Y-Y X^{\dagger}$, , Studia Math. 174 (2006), 183-199.
[6] J. Cui and C. Park, 'Maps preserving strong skew Lie product on factor von Neumann algebras', Acta Math. Sci. Ser. B 32 (2012), 531-538.
[7] T. W. Hungerford, Algebra (Springer, Berlin, Heidelberg, New York, 1974).
[8] R. V. Kadison and J. R. Ringrose, Fundamentals of the Theory of Operator Algebras, Vols. I, II (Academic Press, New York, 1983, 1986).
[9] C. R. Miers, 'Lie isomorphisms of operator algebras', Pacific J. Math. 38 (1971), 717-735.
[10] L. Molnár, 'A condition for a subspace of $B(H)$ to be an ideal', Linear Algebra Appl. 235 (1996), 229-234.
[11] X. Qi and J. Hou, 'Strong skew commutativity preserving maps on von Neumann algebras', J. Math. Anal. Appl. 397 (2013), 362-370.
[12] P. Šemrl, ‘On Jordan *-derivations and an application’, Colloq. Math. 59 (1990), 241-251.
[13] P. Šemrl, 'Quadratic functionals and Jordan *-derivations', Studia Math. 97 (1991), 157-265.
[14] P. Šemrl, 'Quadratic and quasi-quadratic functionals', Proc. Amer. Math. Soc. 119 (1993), 1105-1113.
[15] P. Šemrl, 'Jordan *-derivations of standard operator algebras', Proc. Amer. Math. Soc. 120 (1994), 515-519.

LEI LIU, School of Mathematics and Statistics, Xidian University, Xi'an 710071, PR China
and
School of Mathematical Sciences, Fudan University, Shanghai 200433, PR China
e-mail: leiliu@mail.xidian.edu.cn


[^0]:    Supported by the National Natural Science Foundation of China (No. 11401452) and the Fundamental Research Funds for the Central Universities.
    (C) 2015 Australian Mathematical Publishing Association Inc. 1446-7887/2015 \$16.00

